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I 31 mwn: unique status of PYNY 11 and BYY PN (D5Y 11 not explicitly mentioned in n1wn — RIOMN MON)
a  ohyIn
i cuts his hair when it gets too heavy
ii  each time he does so, he brings the full 7110 911 129p (DR5W ,NRVN ,NNY)
iii  all other m7m »oR apply to him throughout (1930 10 R¥VA ,NRNIV)
b pwnw 11 (May never cut his hair)
i Not held liable for nn nxrmv
1 Implication: nn nRMVY is prohibited to him
(a) Challenge: no Rin accepts this; n"Tn> 1 claims that pwnw 11 is allowed to be in contact with dead; w™
maintains that there is no }1wNY MM at all — since MWNY never uttered the vow himself
(b) Answer: it is N1’ ; he was setting nwNWY P11 against 0y 1 who is liable; pwnw m is permitted
2 Suggestion: the dispute about ywnw M1 parallels the dispute apy> 77 vs. oV " re: tethering a 971 to 1132
(a) Parallel: vov "1 maintains we need a MmN 727 (=YnWY ); 2py’ "1 doesn’t require it (1T’ )
(b) Rejection: all agree that we require 717131 727:
(i) ap»? 77— valid - since there is a m¥n to sanctify a 9131 (v. 2), therefore v. 1 ('n%) includes 7132
(ii) o “7—invalid — since the 1131 is sanctified without it, therefore v. 1 ('n%) includes nwx1 nrvn
3 tangential question: what is purpose of 'n% (v. 3) in context of 1m?
(a) Answer: as per story of p»78n nYnW and the one “pure 11” he met
ii  Question: isn’t NWNWY a regular n? (v. 4)
1 Answer: these are the words of the angel
iii  Question: how do we know that 'wnw came into contact with the dead?
1 Answerl:v.5
(a) Rejection: maybe he smote them, but they died afterwards
2 Answer2:v.6
(a) Rejection: perhaps he cut into them, but they died on their own
3 Answer3: non
iv  Question: source for 09y M
1 Answer: ;9VaR (vv. 7-8)
(a) 27 shaves once every 12 months as per vv. 8-9
(i) challenge: »a7 holds that ’n’ means 2 days
(ii) answer: the purpose it to allow him to “lighten” his hair, unnecessary after only 2 days
(iii) deflection: vv.10-12 cannot be applied, as there are modifiers or variants there (n'n> ,07mw ,vN)
1. note: in spite of the acceptable range of v. 13, where we find a closer analogue, we use it
2. alternate deflection to v12: unclear how often they would go...perhaps once a year for 4 days
(b) dissents:
(i) x719m " once a month
1. reason: patterned after n»n>
(if) »ov ":once a week (like princes)
1. challenge: how is D¥waR recognized as unique among his brothers?
a.  Answer: when v falls during the week or on every Friday morning, he can’t shave
2. tangent: Aggadic-historic note about the 40 years mentioned in v. 7
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